 BHARPLE € A I CoLehy technion (@ F 2|+ 320 S:

e 300"

- i
D A 65°sS

!
2> bs 522958 /300’ = !‘70@0
; 50 ] y - s
2) T - 2eo tay o &5 f5 = fQL-fb...‘

\ - "
4y PC - z.lf'z;ps'-g—i‘?‘f{ 3 ;?-o-ze’-z

. 4
/

s} L ¢ oo’ & . 3us 2
1a. 1 &S 9%

v ; =

L) PT = 1926 4 ru_r’j il 22.-&'7!1—'

Lo
I~TENSECNON IS 47\ Z2(+3D —™ o~ THE L -LI~C

Y

L]

g) neoo ol,

oy H(,
) A = o ]
oo . 204 = 5 3% 052 39 o3
19.1 ol
e
o 345,09 - 204 °-

LS, M7 ol

Y 5 e
1) ane LE~ene ® 21+30 - LT 21z0'= = 192L T zoy“&




PC =

) cHewl (EALTEl

Cza q.46

|9+ 26 .04

-

-

2 e sth

2{ze0)¢in 3903 /2

¢

ZeQ , 50

STPEINE RBY WAECIAr w [tEEC

ey

ok i

-

X
olw:

-
-

f-l-S'?(a/?_

4.72§°

For

&5

I

=

= 23.9b/100 (19°6d' ) = 4570 i

2.2%°

Dl;

L4
T 4%3¢4




i — e e e e =P _J-_h_ = e ——— T St e —————————ve—— e

¥ Y ¥/z
£TA 19+2 .04
it ol 2.29 2,29
1ae$ 0O
ol H.778 2,39
19+ 25
o
zo+00
d
20424
of
20 +SD
ol
20125
of
21 40P
0" A 4 N
zltes”
2+30,G ol l.es o.5¢

19.52° o HEE




oy PROR(EM

PEEEMInED  PIE STATIO A~

L= aus?

ALL bPETAcE From T =

Z=z 390'
/

o 3 190 _ 4o 73
140,73 " 19°00" ~ ol
p: 19706
& s 2rsnm 2688/
140,78 '

£ 9,73

RY ToreeT

4T

OFFSET

2|+ 305:'0

227).23= &L3O.§O = 4o .73

===
i
1

e ——— e

?L}({




lt2 4 scemres
S» = 13,44 °
/ e e
yd
/ e
7]
/%q, il
[T
7
I/
o5 & =
cL <L)
S A Sin g
.2 ‘i‘oa £O
. _ C
sin A
s | o Sin A
D
o= .73 cin 13,44
¢
2 I 2
Tipis

£0;

at+b%: ¢

16,25+ b%s b9.73°

67, 8°

LT §

g

5l




Fuost PC

[=]
A= 39 052
:
C - zoo.so

70 £ SN

- —— e s e r——

/2

r | Beoso sin STESH o

e (,7.0'

1
rD = (290,3"0 - 676" ) cart -

o> 5 (cos df2D ¢

( £o5

sSiACE ¢ T we

Fio .~ PT

29082/, ) zoo50 -

A~ E MRS

1S mocy CEASIERL

s ey ma T —— - o

I 8% .%7

185,97




